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A linear relationship can be written in the standard form Ax + By + C = 0 and slope y-intercept formy =mx +b

6raph: 8x-4y-4=0\

METHOD 1: SLOPE and Y-INTERCEPT

\qux when A’X+%J-’fc =0

METHOD 2: USING X AND Y - INTERCEPTS

Stepl: Rearrange the equatio& in slope y-intercept form =mx+b
gx-l{j'u_ﬁx*: O -8x+\ 0?2\(—,
—Uy = -8y + U
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Step2: Determine the slope (m) and y-intercept (b)

Slope (m) =&_and y-intercept (b) :i
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Stepl: To find the x-intercept, let y = 0 and solve for Xx.
§x-Ule)-4 =0

gx-q"’q:O*q
Ex = Y x =09
gy =

Step2: To find the y-intercept, let x = 0 and solve for y.
glo)-Uy-Yy = <
+Y
'Uj -4 =0
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METHOD 3: TABLE OF VALUES (y=mx +b)

X y= 2x-| POINTS
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Ex2. Graph y = %x — 1 using a table of values.
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PRACTICE
Graphing
1. Graph each equation using a table of values
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2. Graph each equation using the slope and y-intercept. —x- -x~/
a)yj_23x+3 b)y=1/zx:_2__’ c)x+y+1=0
e 2 giabed meriss ol gont=t < =x=1
run__ o | i’t..ir\___..g;‘l .="E§_"'.'-=‘f (‘j it =
V' (n
"3:2)('{'3 aH V'S
A ¥ )
URE
'd"? ......... E H - A \ -
$--""'-.. 9_-:. |&Kr‘2_ 2
- - —L
~ —) ¢ 3
/.3/
-2 -2 I\
—— y 4 t’/
-2 .| =Y
Yz=x=/
[
v v v

3o0f4



10 Academic Date:

Day 2: Review 11 Unit 1: Linear Systems
3. Graph each equation by determining the intercepts.
ax+y=4 b)2x+y=6 c)2x -5y =10
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4. Graph each equation using the most suitable method.
aQ)y=5x+2 b)3x-y=6 cy=3
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